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General Instructions :

(1) This question paper contains 14 questrons. All questions are com pulsory
(ii) This Quesiion Paper 18 divided into 3 Sections - Section A, B and C

(iii) Section-A comprises of & questions (Q. Nos. I to ) of 2 murks rach
Internal choice has been provided in o quesitons.

fiv) Section-B comprises of 4 qurshanas (6 Noa. T to 10) of 3 marks ecach
Internal choiee has been provided in one question

fu) Section-C comprises of 4 questions (Q. Nos. 11 to 1) of 4 marks cach. An
internal choice has been provided in one guestion. It also cantains o

casr sfudy bused questions

(n) Use of coleulator s not permitied

SECTION - A

Question Numbers 1 to § carry 2 marks cach,

1. (a) ln Fig. 1. AB s dinmeter of a circle centered at O B(C s tangent to

the circle nt B. If OP hisects the chord AD and JAOP = 0" then find
m. C.
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(b} In Fig. 2. XAY is5 a tangent to the circle centered at 0. 1
40°, then find m2BAY and m<AQB.

f ZABO =

Fig. 2

2 1f mode of tho following frequency digtrbution 18 55, then fnd the value

ol x.
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0-135

16 - 30

30 - 40

45 - 60

G0 - 75

78 - 'N) |

Frequancy :

10

G

10

12

b
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(a) In o AP if the wum of third and seventh torm is zero, find ils 5
Lerm.

OR

() Determine tha A.P. whose third term is § and seventh term s !

Solve the quudratic equation x° + ‘."ﬂrh'.r -G6=01{or x

Find the sum of firnt 20 terme of an AP. whose n™ Lorm s given as
a, =& -dn.

A wolid pivce of metsl in the form of & cuboid of dimeosions 11 cm < 7 em -

7 rm ta melted to form o mumber of solid spheren of radn % em ench. Finud

the valus ol o
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SECTION-B
Quéestion Numbors from 7 to 10 carry 8 marks each.
7 () The mean of the following frequency distribubion 1 25, Find the

value ol [. B .
[Class: | 0-10 | 10-20 | 20-30 | 30-40 | 40—501
Equuu:r: Er-_-__ . 156 I 6 |
! — _
)  Find thes moan of the following dota usiog -uuqnd M 1y method
Clags: | 0-5 | 5-10 | 10-16 | 16-20 | 20-25
[Prequeney:| 8 | 7 ] w0 [ w | 1

#.  From a point on a bridge acrose n river, the nngles of depreswion of the
banks on opposite sides of the river are 30° and 46°. If the bridge 5 ar A
height of 8 m frnm the banks, then Gnd the wideh of the river

L C D
9. Heights of 80 wiudonts of class X of n schoal are noordsd und Falliwing
dats in obinimed -
- . . .
Height 130-125 | 136-140 | 140-145 | 143-160 | 150-166 | 185- 111
(in cm) :
' Number of 4 ) - 7 I
Students : - ll 1 e !

Find the modisn heghi of the studenta.

10. Construct a poir of fanpsis to 8 cirels of radius 4 cm from o pant P lying
fiterde the cirelo at & distupes of 6 em from the contre,
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SECTION-C
Quastion Numbers from 11 to 14 carry 4 marks each.

11. (1) A 2-digit number 18 guch that the product of its digits is 24. If 18 15

subtracted from the number, the digits interchange their places.
Find the number.

OR

(b); The difforence of the squares of two numbers is 180, The square of

the smaller number is B times the greater number. Find the two
pumbers.

12. Prove that a parallelogram circumseribing a cirele is a rhombus.

13. Case Study-1:

Kite Festival

Kite fectival is celebrated in many countries at different times of the year.

in Lndia, every year 14t January is celebrated as International Kite Dax

On this day many people visit India and participate in the festival by
fying various Idnds of kites.

The picture given below, three kitea flying together.
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Fig. 5

In Fig, 3, the

. angloe of elevation of two kites (Points A and B) from the
of 0 man (Point C) are found Lo be 30° and 60°

=8 m apnd BE = g m, fnd e
(1) the lnn!g':h:i. of strings used (toke them atroight) for ldtes A and 3 as
dhown in tho figure. *
@) the distones ‘4" batween thesa twao kntes =
a0/ 5
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|4 Case Study - :

A'errus 15 4 company of performers who put on shirws of acrobnts, clowns
ple (o eptertain people started around 2540 years back in open felds. now
gunerally performed in tents

(3 wuch Circus Tent s shown below

i

The tent s in the shape of a cylinder surmounted by o comical top. If 1h
newght and dinmeter of cylindncal part are & m and 30 m respectivels (0
Weight of csmscal part is 8 m with same diameter as that of the eybinirioal
pwrt, then find

(1) the area of the canvas used 10 making the tent,

& the cost of the canvas bought for the tent at the rate © 200 per sq m,

30 aq m eanvas war wasted dunng stitehing.




